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H m Ik

16 =T Tol 1

a b c d e f g=b~f | h=a+g e Y ‘E
5,395 | 2,030 29 | 148 | 31| 4B | 273 | 8126 | [N [y |
4597 | 1,880 | 131 | 163 | 29| 5® | 27 ® | 7.305
4,110 | 1,957 97 | 171 | 28| 4@ | 26@| 6,772 3 2
3,044 | 1,029 66 | 108 | 27 | 24 | 147 | 4521 77
3,521 | 1,613 96 | 150 | 13 | 34 | 22 B| 5,739 A— o
3,386 | 1,637 | 173 | 150 | 12 | 32| 22®| 5.679
3,197 | 1,195 56 | 113 | 27 | 2% | 165 | 4,823
3,992 | 2,447 97 | 279 | 34| 4@ | 333 7,331
3,637 | 2,037 63 | 191 | 32| 4% | 272 6,419 2 2
3,886 | 1,837 | 417 | 169 | 29| 44| 282 | 6,778 s Tl
3,044 | 1,404 61 95| 32| 3% | 1989 | 5,031 P
3,872 | 1,468 | 393 | 155, 63| 54| 263 | 6,525 iR :
2,573 | 1,186 20 | 111 | 27 | 3B | 162 | 4,245 e NI
3,454 | 1,318 71| 199 | 18 | 42| 208 | 5,532 K 5 "D
2,678 | 1,038 75 | 116 | 20| 248 | 15® | 4,178 o o] |
2,808 | 1,632 29 71| 20| 22| 20B| 4821 ——t T
3,562 | 1,534 24 88| 35| 43| 215 | 5678 AN |l
3,577 | 1,566 32| 145 | 28| 3% | 21®]| 5,707 g EEERNEY -
3,608 | 1,572 | 102 | 129 29| 22| 21@ | 5,712 o] o [ PR [N 02
3,686 | 1,384 36 | 111 | 35| 3G | 1874 | 5,557
3.266 | 1,512 | 108 | 209 | 36 | 3B | 218 | 5,449 02
3,283 | 1,391 70 | 298| 11 | 3B | 208 | 5,369

5.786

12



AN

H m It

/

16 H
a b o d e f g=b~f | h=atg g/h
4,285 | 1,98 164 117 32 449 | 2,705 7,013 | 38.6% 2.5
4875 | 2,18 32 116 30 425 2,752 7,743 | 35.5% 2.5
5130 | 2,52 436 194 24 397 3,643 8,812 | 41.3% 2.7
4,610 | 2,2 4 176 117 32 435 3,014 7,739 | 38.9% 2.5
5,654 | 1,97 452 135 27 295 | 2,883 8,509 | 33.9% 2.5
4,170 | 1,93 119 169 32 444 | 2,699 6,896 | 39.1% 2.5
3,689 | 1,0 73 95 33 200 | 1,410 5,212 | 27.1% 2.5
4,296 | 1,7 38 54 188 40 336 | 2,341 6,700 | 34.9% 2.3
3,830 | 1,946 30 265 36 261 | 2,537 6,402 | 39.6% | 2.3/4.3
3,655 | 1,4 % 28 136 34 250 | 1,943 5,687 | 34.2% | 2.5/3.0
3,959 | 1,6 2 54 48 36 384 | 2,164 6,211 | 34.8% 3.0
6,993

36.2% /\
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